
SAP ABAP table VTXICROSS {Transfer Structure Cross Rates Calculation}

VTXICROSS

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

WXWAERS [CUKY (5)]

WFWAERS [CUKY (5)]

WLWAERS [CUKY (5)]

WFXFWAERS [CUKY (5)]

WLXFWAERS [CUKY (5)]

WFXLWAERS [CUKY (5)]

WLXLWAERS [CUKY (5)]

T000

MANDT [CLNT (3)]

 VTXICROSS-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTXICROSS-BUKRS = T001-BUKRS 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTXICROSS-WFWAERS = TCURC-WAERS 

0..N

0..N
 VTXICROSS-WFXFWAERS = TCURC-WAERS 

0..N
0..N  VTXICROSS-WFXLWAERS = TCURC-WAERS 

0..N

0..N

 VTXICROSS-WLWAERS = TCURC-WAERS 

0..N
0..N

 VTXICROSS-WLXFWAERS = TCURC-WAERS 0..N0..N

 VTXICROSS-WLXLWAERS = TCURC-WAERS 

0..N
0..N

 VTXICROSS-WXWAERS = TCURC-WAERS 

0..N

0..N


